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PROBABILITY

प्रायिकता



PROBABILITY

The set of all possible out comes of an experiment is called the sample space. Every 

out comes (element) of the sample space is called sample point.

प्रिोग के सभी संभायित सेटो ंको सैम्पल से्पसकहा जाता है। नमूना स्थान के प्रते्यक

आउट (तत्व) को नमूना य ंदु कहा जाता है।

P(E) =
𝑺𝒂𝒎𝒑𝒍𝒆 𝒑𝒐𝒊𝒏𝒕𝒔 (𝑺.𝑷.)

𝑺𝒂𝒎𝒑𝒍𝒆 𝒔𝒑𝒂𝒄𝒆 (𝑺.𝑺.)



\
In a bag 5-Red, 4-Green and 3-Black balls if 3-ball are drawn at random. What is the 
probability that all 3-balls are Red or 1 is Black and 2 are Green?
एक  ैग में 5-लाल, 4-हरीऔर 3-काली गेंदें हैं ियद 3-गेंद िादृच्छिकरूप से खीचंी जाती हैं।क्या
प्रायिकता है यक सभी 3-गेंद लाल हैं िा 1 काली है और 2 हरी हैं?

(A)7/55 (B)5/8 (C)3/7 (D)17/24 (E)None of these



\
A committee of 5 people is to be formed from among 4 girls and 5 boys. What is the 
probability that the committee will have less number of boys than girls?
4 लड़यकिो ंऔर 5 लड़कोंमें से 5 लोगो ं की एककमेटी  नाई जानी है।क्या प्रायिकता है यक
सयमयत में लड़यकिो ंकी तुलना में लड़को ंकी संख्या कम होगी?

(A) 7/14 (B) 7/15 (C)6/13 (D)5/14 (E)7/13



\
Calculate the probability of forming different words in which letters of word ABJURED can 
be arranged so that vowels always comes together.
यियभन्नशब्ों के  नने की प्रायिकता की गणना कीयजए यजसमें ABJURED शब् के अक्षरो ंको
व्यिच्छस्थत यकिा जा सकता है तायकस्वर हमेशा एकसाथआएं।

(A) 1/6 (B)3/35 (C) 1/9 (D)1/7 (E)5/7



\
If 5 coins are tossed simultaneously find the probability of getting at least 2 heads?
ियद 5 यसक्ोंको एकसाथ उछाला जाता है तो कम से कम 2 यचतआने की प्रायिकता ज्ञात
कीयजए।

(A)3/16 (B)5/8 (C) 13/16 (D)5/16 (E)None of these



\
A bucket contains 2 red balls, 4 blue balls, and 6 white balls. Two balls are drawn at random. 
What is the probability that they are not of same color?
एक  ाल्टी में 2 लाल गेंदें, 4 नीली गेंदें और 6 सफेद गेंदें हैं। िादृच्छिकरूप से दो गेंदें यनकाली
जाती हैं।क्या प्रायिकता है यक िे एक ही रंग के नही ं हैं?

(A)5/11 (B) 14/33 (C) 2/5 (D)6/11 (E)2/3



\
Four coins are tossed together. Find the probability of getting exactly 3 heads.

चार यसक्ोंको एक साथ उछाला जाता है। ठीक 3 यचतआने की प्रायिकता ज्ञात कीयजए।

(A)3/8 (B)1/8 (C) 1/4 (D)5/16 (E)None of these



\
12 persons are seated around a round table. What is the probability that 5 particular persons 
are always seated together?
एक गोल मेज के चारो ंओर 12 व्यच्छि  ैठे हैं।क्या संभािना है यक 5 यिशेषव्यच्छिहमेशा एक
साथ  ैठे हैं?

(A)4/121 (B) 4/11 (C) 4/33 (D)4/27 (E)None of these



\
P and Q are sitting in a ring with 11 other persons. If the arrangement of 11 persons is at 
random, then the probability that there are exactly 4 persons between them?
P औरQ एक ररंग में 11 अन्यव्यच्छििों के साथ  ैठे हैं। ियद 11 व्यच्छििोंकी व्यिस्था िादृच्छिक
रूप से की जाती है, तो उनके  ीच ठीक 4 व्यच्छििों के होने की प्रायिकता है?

(A)1/3 (B) 1/4 (C) 1/5 (D)1/6 (E)None of these



\
In a bag 5-Red, 4-Green and 3-Black balls if 3-ball are drawn at random-
What is the probability that all 3-balls are Red or 1 is Black and 2 are Green ?
एक  ैग में 5-लाल, 4-हरीऔर 3-काली गेंदें ियद िादृच्छिकरूप से 3-गेंद यनकाली जाती हैं- क्या
प्रायिकता है यक सभी 3-गेंद लाल हैं िा 1 काली है और 2 हरी हैं?

(A) 7/55 (B)5/8 (C)3/7 (D)17/24 (E)None of these



\5 students from CMS College went for a competition and they choose a hotel for staying 
where 8 rooms are allotted to them. What is the probability that all the five students occupy 
different rooms?
सीएमएसकॉलेज के 5 छात्र एक प्रयतिोयगता के यलए गएऔर िे ठहरने के यलए एक होटल चुनते
हैं जहां उन्हें 8 कमरेआिंयटत यकए जाते हैं। इसकीक्या प्रायिकता है यक सभी पााँच यिद्याथी
अलग-अलगकमरो ं में रहते हैं?

(A)163/512 (B) 105/512 (C) 97/484 (D)123/512 (E)CND



\
A two digit number is formed by using the digits 2,8,5 and 4. Find the probability that this 
number is divisible by 3.
2,8,5 और 4 अंको ं का उपिोग करके दो अंको ंकी एक संख्या  नाई जाती है। इस संख्या के 3 से
यिभाज्यहोने की प्रायिकता ज्ञात कीयजए।

(A)1/2 (B)1/3 (C) 1/4 (D)1/5 (E)None of these



\
Find the probability that in a leap year, the numbers of Mondays are 53?

एकलीप िषष में सोमिार की संख्या 53 होने की प्रायिकता ज्ञात कीयजए?

(A) 2/7 (B)1/7 (C) 3/7 (D)1/4 (E)None of these



\
A box contains 5 defective and 15 non-defective bulbs. 4 bulbs are chosen at random. Find 
the probability that at least 3 bulbs are defective.
एक  ॉक्समें 5 दोषपूणष और 15 गैर-दोषपूणष  ल्ब हैं। िादृच्छिकरूप से 4  ल्ब चुने जाते हैं। कम
से कम 3  ल्बखरा होने की प्रायिकता ज्ञात कीयजए।

(A)31/969 (B) 31/996 (C)29/696 (D)31/993 (E)29/993



\
Three cards are drawn from a pack of well shuffled cards.
Find the probability that all three cards are honour cards of same colours.
अिी तरह से फें टे गए ताश के पत्ो ं के एक पैकेट से तीन पते् यनकाले जाते हैं। प्रायिकता ज्ञात
कीयजए यक तीनो ं कार्ष एक ही रंग के ऑनर कार्ष हैं।

(A)2/5526 (B) 2/5525 (C) 2/5425 (D)2/5426 (E)None of these



\
Three cards are drawn from a pack of well shuffled cards.
Atleast two cards are of black colour.
अिी तरह से फें टे गए ताश के पत्ो ं के एक पैकेट से तीन पते् यनकाले जाते हैं। कम से कम दो
कार्ष काले रंग के हैं।

(A) 1/3 (B) 1/4 (C) 1/2 (D)1/6 (E)None of these
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